BRHEETEFOMGEREER GEREXLF1—L4) 1/5
RERE | FRRTESB1H () ~FRr2TE5831H (H) (BQT = A\ 9bb/kg)
E=31 ] — o = ®&EH . wHERERES T
(IEEES FZAINTAZX | BBLLTAHEE] 7H(K) IS 16.9
EES FZINT A |BBLLTHAHEHE] 18H (B) IS 14.3
3 [FFx 15 U7V INEY BT AHE] 8H (&) g 11.1
M EES 14 F3 LU T-ERET S HEY | 29H (£) T 9.8
I EES 14F1 LT E AT Z HEF | 29H (£) A& 10.3
6 [Bx 1 F3 BB LT AHRET 18H (B) IS 10.7
[ EES 1 F3 EBLLI T AHIET 22H (&) T 7.2
8 [BE 1 F3 BB LT AHRET 25H(8) IS 11.9
I EES 1 F3 BB LI T AHET 25H(B) 17.1 10.5
10 [BF3% 1 F3 BB LT AHHET 28H (K) IS 14.7
(M EES 1 F3 BB LI T AHET 29H (£) T 7.1
12 |F% 14 F3 EBLLI T AHET 29H (£) T 8.7
13 |5E 4F3 EILUHHEMNBIEE | 28H (K) A& 6.5
IMEES I X (Z1) |[BHEmh 8H (£) T 12.7
15 |5FE FThHeIF EN= 22H (&) A& 16.5
16 |BF% Hh7 ELUHHENTER [ 18H(A) IS 11.9
HEES B BB LT AHHET 148 (k) IS 14 .4
IFIESES mEP BB LT AHRET 15H (&) A& 15.8
19 |5FE mEP BB LT AHRET 26H (N) A& 12.5
IEES mEP L hEH 28H (K) A& 16.6
IEES RS BB LT ERET 118 (B) IS 9.4
22 |BE RS L= HET 25H(8) IS 13.4
23 |HE mEP £81Lh H A0 BT 29H (&) A& 9.3
Y EES mEP ag)llh 26H (N) A& 10.8
I EEES RS FE 21H (K) IS 141
T EEES RS N N 18H (B) IS 9.9
YIREES FrRY BB = LIRS 28H () L 9.4
I EEES FrRY ELLmEVERT R [ 29H () L 7.7
29 |FE F Y LI E s ET 25H(8) IS 14.7
30 |FFE F Y LT E AT Z HEF | 18H(B) A& 10.9
31 |HE F Y BB LT AHRET 8H (&) A& 19.2
32 |HE F Y BB LT AHRET 20H (k) A& 14.2
33 |HE F Y 8L A ST 20H (k) A& 8.7
34 |BFE F Y EBILUMEAHBIREHE| 8H (L) A& 12.4
35 [Fpx FrRY B HAMETLLS [ 12HCX) L 5.2
A EEES FrRY ST EHATETHR L4 | 22H (&) L 5.1
37 |HE FrRY LU HANE &2 | 215 (K) L 9.3
38 |FFE TEZVZD BB LT AHRET 8H (&) A& 14.3
39 [ DF5F+ —_ AW 11H(B) A& 6.7
M EES gLy LU PAHBIERER| 7H (K) 652.4 14.8
N EES JZ—L5X |EILUTHEHBT 20H (k) A& 14.4
IV EES Y15y [BUmBEMBEISE| 138 (k) A& 10.8
I EES YrPIVERD BT EAHBIEIHR | 195 (N) A& 24.2
M EES VPIVERD 8L R EHET 26H (N) A& 7.4
S ES I AL E LAY | 29H (£) T 5.8
T EES JvHAE LU HAEREETSE | 135 (k) A& 7.8
NI ES IvHAE () |BBLUTHEVERTE]IN [ 13H(0K) IS 7.5
48 [Hx EVE -V ELUHHENTER [ 18H(A) IS 17.0
49 [Hx BRE%E () BB LI T AHET 8H (&) IS 11.8
50 [F9% 27 v 7TV R [BRLHEFLIE 29H (£) T 10.5
51 [¥9% 2+ v 7TV R [BILHEERIIL [ 29H (£) L 9.2
P ESES 2+ v 7TV R | BRLLTHAHE] 18H (B) A& 14.1
I ES 2y 7TV RO BIIUTMHENEIEE  [12HCN) IS 7.0
54 |BFE 2FwJTV R BT HET 195 (N) A& 10.6
Il ESES 2+ v IV RY |[FEm 218 (K) IS 13.8
HEEES 2+v7Tviry @) | BT AHRET 118 (8) e 9.1
57 %% ERESS BUmhzEvERT Il | 29H(®) L 16.6
58 |BFE HIZF BB LI &R 25H(B) L 8.5
59 |BFE HIZF EBLLI T AHIET 18H(B) L 6.8
60 |[FF INZF BB LT AHRET 29H (&) A& 7.2
61 [ N RF LT EXARITERR| 29H (&) A& 18.4
62 | N ZF 811 HF0 BT 28H (K) A& 6.6
63 [Bx ERESS a8)lm 26H (N) e 7.6
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REHM - FRRTESA1H () ~FERRTE5831H(H) (BfiL = A\ Jblb/kg)
=i — = - wEH . BHRARESET
[TEES JTHAE BT EHNETS1E 1H (&) IS 7.9
65 |FF Ex* LU EEIZHE | 15H(®) IS 8.6
66 |FFE Ex* L =8B = M | 28H (K) g 12.2
67 |[FFx —> BB LT AHRET 25H(H) 15.4 1.7
68 |FF —> BBLLITHRERL 18H(8) IS 18.3
FIEES —_Vh BB LT RERL 18H(H) IS 11.3
NEES EIVRT B EEIZHE | 15H(®) IS 10.4
I EES EAIVRT BB LT AHRET 7H (K) IS 14.3
[P EGES pEEI BB LT AHRET 27TH(K) 15.9 9.3
73 [Hx 7F BB LT AHHET 7H (K) IS 14.6
IMEES 7F BB LT AHRET 7H (K) IS 9.1
[FEES 7% BB LT AHRET 7H (K) IS 12.7
76 [FFx 7% BB LT AHRET 8H (&) IS 17.4
77 |5HE 7F BB LT AHRET 158 (&) IS 9.0
78 [ 7F BBLLITHRERL 8H (&) e 10.2
79 [Hx 7+ BBLLITHRERL 8H (&) IS 11.1
80 |¥¥x< 7+ 8L fE AR 8H (&) IS 13.5
81 [ 7% BLUHE 25H(8) IS 6.7
82 |[Hx 7F B EATETRLLAE | 7TH(K) IS 7.0
83 |¥¥x 7F HA ™ 18H(B) EN Y 9.8
EES 70y aU— [EUTHEAERLLSE | 29H (&) IS 7.2
85 |F¥x RO LYYVD BB ARE] 21H(K) IS 9.5
86 |FFx< HRoLYVYD  |BUmHEETEE| 7HCR) IS 11.9
87 |¥E =27 BB LI R EHET 18H(B) T 7.9
FIEES YN oL 1H(E) IS 11.5
89 |¥¥x =Y\ BB LT AHRET 7H(K) 12.4 11.2
EES =Y\ BB LT AHRET 25H(H) IS 15.6
91 [Hx =Y\ BB LT AHHET 25H(H) IS 8.7
92 | LY X BUHEAHITERER| 8H(E) IS 19.4
93 |¥¥ LY X BT EATETRLLAE | 7TH(K) IS 10.7
[EES RS BE|llh 26H (X) T 4.4
95 [k GiFk. B=k®) [HEAK LU=/l | 15H (&) T 8.2
096 |k GiPk. B=k=) |FERIK B LLITH ATEET 7H(K) A& 7.9
97 |k GiPk. B=k=) |FERIK B LLITH ATEET 158 (£) A& 7.9
08 |k GiFk. B=k=) |FERIK BB LT AHRET 208 (%) A& 8.1
99 [k GiPk. B=k=) |FERIK LT BF0EE]T 128 (X) A& 4.3
100 |x GiPk. B=A=) @K TG 138 (k) A& 8.2
101 [ -=ncfE |3+ 8L HAOERET 21H(K) 7.5 6.7
102 I - E=DCFE|UR NEE AL 18H(A) A& 7.4
103 |l - EDCFE|UR B LUhZ=iEmT ] TH () IS 7.8
104 I - =DCFE|DR 8L s Ea BT TH () 14,1 9.7
105 I - EDCFE|UR L= HET 18H(H) IS 8.7
106 |l - =DCFE|UR HA ™ 20H (k) IS 9.4
107 JIUE - EDC iﬁ R REEEL = [ BT 7H (K) 22.0 8.0
108 |l - =DCFE|UR SR Fa = 2 ] 118(8) IS 11.8
109 [ILER - é‘FODZiE 2 K (Zn) B8 EB R ea 1CHT 118(8) 10.5 5.7
110 JILE - =D |VILA BUHEARHITERER| 7H(K) IS 14.9
M [LUE-FocfE|DDN=ZV Y ([ElUmEveligl | 27H0K) IS 7.9
112 [ILE -2 [DONZIVY  [BLmHEISRE  [25H(8) T 9.3
113 [ - EQCE[97NZVY @) [ZHRNRH 25H(A) 241 13.6
M4 [IE-=E0CE|[ITE=ZVZ=D SoE=E XN ] 25H(H) IS 13.4
115 [l - T cfE |33 EXhm 8H (&) 16.0 13.9
116 [ - T cfE|O33= EXhm 8H (&) IS 13.2
117 [UFE-FncfE |33 BB LR 1H (&) IS 13.6
118 |l - FNC iE o 8L A T 1H (&) IS 21.2
119 I - =D |00 8L AR AT 7H(KX) 17.7 12.0
120 [ - %@:iﬁ J3J= BBLLI AR ET 113 (8) TN 10.8
121 IE - =DcFE |00 LT A BT P EF 7H (K) 17.4 11.4
122 [IIFE - =0 |00 B EHETEE) | THKR) e 12.3
123 [ILE-FpcfE[03= HR AR & m T 7H(R) T 13.4
126 [INE-FpcfE[03= R EB P = 2] 11H(B) T 4.4
125 [ - |33 SR Fa = 2 ] 118(8) e 8.7
126 [ -=ncfE |33 (7n) 8L FaEHET 118(8) e 9.9
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RERE | FRRTESB1H () ~FRr2TE5831H (H) (BQT = A\ 9bb/kg)
E=31 ] — o = ®&EH . wHERERES T
127 [LE - =023V 7T5 BB LLI T AHIET 7H(K) IS 8.8
(IEENERERR 1 EPE B L EHATETSFLL 1H(£) 74 .3 6.9
129 |l - =0 |0y 7 IS (&) |EBmEREsECHT 21H(K) 66.1 8.7
130 (IR -FDC iE Hyrvay (8) |BLUHERIIZHE | 11H(B) A& 16.7
131 [ILE-F2fE|bryay (F) |BIUMHEET 18H(H) A& 18.4
132 [ILEE - %@:iﬁ VA% (@) |EZATH 22H(£) 19.4 8.6
133 [ULE-FncFE| BtV T LU BT EAFHE| 7TH(K) 20.3 11.3
(ENEREDM AP WHEM 28H (K) IS 18.3
(ENERED AP =i ERsE o] 7H(R) 19.7 8.1
136 |32 - =D CE[F~7 /3 LT 8H (£) 14.0 7.3
137 [ - =D 2E[F~7 /3 LT 12H(CN) 27.4 6.7
138 [ - =D 2E (¥~ /3 LI Z1EmT 7H(K) 423.2 10.8
139 LK -FDZ iﬁ S 3 B LhZiamT )| 7H(K) IS 6.3
140 [l - EQ2FE[HF /O LR EGERT /I [ 12HCN) 16.6 10.8
(IENER %@:iﬁ A4/ BILUTERATZHE | 8H(E) 16.6 7.3
142 [l - =0 2FE|FF /3 LT ERETZHE | 11H(B) 70.0 8.9
143 [l -T2 |»¥45 /3 BT E AT ZHE | 15H (£) 13.5 10.6
MENERED AP LT E AT ZHE | 18H(B) 11.5 7.2
145 [ - = 2E[F~7 /3 EBLLI T AHET 1H(£) 27.8 10.0
146 (32 - = CE[F~7 /3 EBLLI T AHET 1H(£) 16.5 7.8
147 I -T2 | ¥/ BB LT AHRET 1H(2) 15.3 11.0
148 [ -ZEDC iﬁ HH 3 BB LLI T AHET 8H (&) IS 15.4
149 [l - EQ [ /O EB LT AHEET 8H (&) 26.6 16.5
150 |1z - %@:iﬁ A/ 8L Th AHEET 8H (&) 24.9 11.5
151 [l - = 2FE|FH /3 BBLLImh A~ ET 28H (K) IS 8.6
152 [ - =D 2E[F~7 /3 EBILUHENETER [ 15H(®) L 8.1
153 I - =D | ([¥7 /3 ELUTHENBTEE [ 12HCX) 14.3 7.3
154 [l -FQcFE[¥F /3 L EHATET L 1H(£) 25.6 9.9
155 [ - = 2E (¥~ /3 ELLTHHMNBIIEE [18H(A) 16.5 7.8
156 [l - FDcFE (¥~ /3 BRI EHATET A | 12H CX) 27.9 9.7
157 [ILE - =D iﬁ ELP= ELUTHENTECH] 1H (&) 7.8 3.8
158 [l - EQZFE[FF /O L HELEZE | 195 CX) IS 10.9
159 |1z - %@:iﬁ A/ LU HBTGE] | 7H (K) 18.5 8.9
160 [z - T cFE|»¥45 /3 £81Lh H A0 BT 1H(2) 15.0 6.8
161 [l - T cFE|»¥45 /3 UM HMHETSE | 29H (£) 13.8 9.3
162 [IIZE - =iy /3 BLUTEAMABENATE| 8H(Z) 36.9 6.5
163 (32 - =D CE[F~7 /3 BLUFBEAAEBENATE]| 25H(8) L 11.4
INEREIOR P BLUH=MEHITAS| 1H(EE) 10.4 9.4
165 |32 - =D CE[¥~7 /3 a8)lm 8H (£) 10.0 5.7
166 [ -ZFDC iﬁ EL= a8l 298 (£) 16.7 7.6
167 [l - EQZFE[HF /O HNE =&FH] 7H(K) IS 9.3
168 m%-%o):iﬁ A/ HTE = FH] TH () 250.7 12.2
169 [ -TncFE |~ /3 HT 8 =FH] 7H (K) 38.1 12.6
170 [ - T cFE|»45 /3 HTE =FH] 7H (K) A& 13.0
(I NEREIO L Ps HTE =FH] 8H (&) 152.9 8.5
172 [ZZ - Epc2Fg |y~ /3 HA ™ 1MH(B) 40.6 7.0
173 [ - = 2E (¥~ /3 HA™ 1MH(B) T 4.9
174 IUxE - FDC iﬁ EL= HA ™ 1MH(B) 28.8 9.4
175 [l - EQZFE[HF /O HA ™ 20H (7k) 27.7 6.8
176 1L - %@:iﬁ S/ EN=N 1H(2) 65.4 10.4
177 [ILEE - =0 2FE|FF7 /3 B8 ERFE = 28] 118 (8) IS 15.1
178 [l - EQCFE[FFT /0 (Zn) |[SEEARN 12H(CN) 19.8 5.0
179 [ILZE - = c3E|~»45 /3 (zn) |EBIUTS 12H(N) 20.4 1.7
180 |ILE - =ncFE (¥4 /3 (71) [ERUTH 21H(K) 16.0 12.2
181 [ILE - =nCcFE[¥5 /3 (7)) |[BRUThZ=iEE &) 7H(K) L 7.8
182 [ILE - =i [¥45 /3 (7)) [ERILUTHENEHET 8H (£) L 6.7
183 [IIZX-FDC iE 4 ./3 (7n) |BMLmEERT EFESE| 8H(S) 20.5 8.8
184 ILE - =D [¥5 /3 (870) [ERILUTH AHIET 7H (K) L 7.5
185 |LLIZE - 3@:%& 4 /3 (an) BB AHRET 25H(8) e 10.5
186 |2 - T (A /0 (Zn) [BRLUTHRFHT 21H(K) 11.8 10.1
187 [l - =3 |»4 /3 (Zn) |EBLHEAHAEIFIHR] 28H (K) 15.4 12.1
188 [l - EQ (A /0 (Zn) [BRLTBEEH 7H(K) 15.7 7.2
189 [ - cfE|»45 /3 (7)) |EBLUmHENEIER 7H (K) 43.0 7.7
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REHM - FRRTESA1H () ~FERRTE5831H(H) (BQT = A\ 9bb/kg)
E=31 ] — o = ®&EH . BHRARESET
190 |IUE-Fn2FE(~#45/3 (z0) |ESLLUTHEAE)IIE | 295 (&) IS 6.5
191 IWE-=ncFE|[¥45 /3 (Z1) [ERILThFaEET 7H(K) 38.0 8.9
192 [ILE - =D |[¥45 /3 (1) [ERILThPFaEET 25H(B) 7.3 6.6
193 [IUIE--FNC iﬁ 4/ (zn) BB PEEHETEME | 11H(B) g 7.0
19 IIE-FDcFE|(~5 /3 (zn) |ESLLUTPFaREETTH | 126K 9.6 8.3
195 [ILE - %@:iﬁ S /3 (%) [BLUHHEAAEBNATE]| 7TH(K) 37.1 6.9
19 |- |5 /3 (&) |[BBlUmEXALLET 7H (K) 41.1 9.8
197 [ILEE-=ncFE|»4 /3 (Zn) |7BE]llh 118 (8) IS 6.6
198 [ILE-=nCcFE[¥5 /3 (7)) [FEm 8H (&) 12.7 5.7
199 [ -T2 |»5 /3 (7)) |[FEm 8H (&) 13.5 12.5
200 [l - =cFE (445 /3 (7n) |HNER/N\EFHE] 298 (£) IS 9.2
201 |- = cF |45 /3 (7)) |BEWNE=FH 8H (&) 20.3 10.7
202 [IIFE-FDC iﬁ 4 /3 (zn) |HNE=FH 8H (&) 26.8 12.5
203 [l - = cHE[45 /3 (7n) |HNE=FH] 8H (&) 20.1 11.1
NER ngiﬁ Y4 /3 (fn) |HNE=FH 8H (&) 24 4 12.6
205 [l - = cHE (445 /3 (7o) |HNE=FH] 28H (K) 12.8 6.2
206 [l -=cE (A4 /0 (Z1) |[HN™T 7H(R) 22.2 7.9
207 Il -=ncfE[445 /3 (7o) |HAm 20H (7k) 15.2 6.8
208 [l -=ncfE[445 /3 (7o) |HAM 21H(K) 18.2 12.3
209 [l -=cfE (445 /3 (Zn) |[IRE 18H(8) 183.0 10.1
210 [l - = cFE (445 /3 (7n) |[ZAm 7H(K) IS 8.4
211 [ - FnC iﬁ S /3 (#1) | Z“H&KWmH 8H (£) IS 8.1
212 IlE-=cfE[45 /3 (7n) |[REE 13H (7k) 57.6 8.0
AEEINER %@:iﬁ S/ (@n) |fRE™ 198 (X) 10.4 6.9
214 I - = cfE[445 /3 (Zn) |BRmEEmRHE 1H (&) 64.0 9.9
215 [l - = cFE |54 /3 (7n) |BRmEREmRHET 27H (7k) IS 8.6
216 [IIE - =245/ X RGN 198 (X) IS 14.8
IENERERR AEEPES 8L &R 1H (&) IS 13.2
AEENERERR AEEPES EBLLI T AHET 1H (&) IS 14.6
AERNERERR AEEPES EBLLI T AHET 155 (£) IS 16.9
220 [ -FDC iﬁ PR BT EHNETS1E 1H (&) IS 12.1
AINEREIMAEEPE: FHA R/ \EFH]T 1H(2) A& 13.2
222 [ILZE - aeo):iﬁ S J X B8R e {CHT 18H(B) 20.7 10.9
ENNEREIMAEEPE: ESmEB PR =2 ] 118(8) A& 12.1
Y NEREMHMAESES PELAN T 28H (K) 42.1 14.3
225 [l - = cHE[=xYAVUSS [BlLmEGERTRIL [ 19H(N) 10.4 10.2
226 | - =2 |=x~AVUSS |BRUSR=FEETIIE| 278 (k) 10.5 8.2
227 [l - = cE[=xYAVUSS  [BILT=42HE])IIH| 278 (k) 8.2 7.6
228 [l - = [=YAVST [IFRE 18H(B) 20.7 10.5
229 [l =D iE YAV (zn) [BRLLREVERTGL [ 198 (X) IS 10.7
230 [ - EOCHE [*~AUST &) |[fHsll 21H (K) 26.0 10.6
231 [ILZE - ngiﬁ *XAUSHT (@) |Faslll 25H(B) IS 7.6
232 [IlE-=cFE|[T7F EBAEN 195 (X) IS 9.9
233 IJ.I% M go)[_’_iﬁ 7:F gﬁmﬂiﬂ'iﬁﬂﬂ-nu 155(%) Z{@Hj 95
234 I -FDCFE|T7F LT ERETZHE | 11H(B) A& 10.1
235 [IlFE-=cFE|[T7F ESLLTEHET S HEY | 22H (£) IS 10.5
236 [l -=cFE|[T7F BB LT AHRET 18H(8) IS 1.7
237 [IIE-FDC iﬁ 7% EBILUHmEAREER | 11H(B) A& 11.1
238 [l -=ncFE|[T7F BT RE | 25H(A) IS 8.4
239 [ - ngiﬁ 7+ BT EAET/NIT [ 22H(®) IS 6.2
ENERE M APES LT AT BT R 8H (£) 7.1 5.9
AENERE M APES 8L EHET 155 (£) IS 11.4
Y ENERE M APES E31LLh HANEBT 20H (7k) 26.8 12.5
P ENERE R APES EBIUMmEALBINALE| 1H(E) A& 10.0
244 I -FEDCFE|T7F BT =FEEE]T 8H (&) A& 21.8
245 |l -FDCFE|T7F H 8 =FH] 7H (K) 13.0 11.5
246 I - =D iﬁ 7+ 75 ER PR R AT 18H(B) IS 14 .4
247 I - =T+ N N 22H (&) IS 8.2
248 1% - ngiﬁ 7% (&) A$ﬁ$ﬁ$ 27H (7k) e 12.0
FENERET 1 PENE ) EBUJFﬁﬁﬁEEI 25H(8) e 10.3
251 [l - =7+ (@) BLUmHEIRERE [ 18H(A) e 10.2
252 [l -=ncFE |7+ (@) EBLLTh =FEHHE] 28H (K) e 10.6
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RERE | FRRTESB1H () ~FRr2TE5831H (H) (BQT = A\ 9bb/kg)
E=31 ] — o = ®&EH . wHERERES T
253 [IUIE =D |7+ (#Z0) a8)lm 28H (K) IS 10.6
254 | -=EDCHE|T7F /KD 8L s Ea BT 7H (K) A& 16.8
255 (IR -=0CfE[T7F /D B8R ea 1CHT 7H(K) g 17.4
256 [ -FDC ﬁi\v7459ﬂ 811 s Ea BT 118(8) A& 15.7
257 I - EQ (S PV S 0Y [BRLT AT 14H (K) 14 .4 5.4
258 [ILEE - %@:iﬁ TEZIIAY Al EB & B AT 1H (&) T 13.6
259 [l - = cHE[ESIAY EB LI ira T 128 (X) IS 11.0
260 [ - EDOCH|[ESIAY BB LI T 7H(K) T 16.3
261 [ - =02 [ITAYVY  |EUHRET~E 8H () IS 18.5
262 [ - =CFE[IEF LT HET RS | 25H(B) IS 12.3
263 [l -FO2FE|TEF =R EL N HRET 7H (K) A& 14.3
264 [ - =02FE[TEF (Zn) HS BB EE 1R H] 22H(£) IS 8.0
265 [l --FDC iﬁ JHE (§) EB LI ira T 12B (X) IS 10.9
266 [z - = CcFE[7SE SEMA 8H (£) 95.1 13.6
267 m%-%w:#&vae 8L &SR 1H (&) T 16.2
268 |2 - EDCFE[USE BLLUTHENEHEA [ 21H(K) IS 9.9
269 |2 - EDCFE[USE a8)lm 1H(®) L 9.5
2710 [l - EnCFE[USE HA™ 18H(B) L 9.1
INEREDR APEL= BRFAERPE =2 0] 198 (X) IS 15.5
272 [z - =02 ([TUSE (Ktk) [&FET 27H (7K) A& 12.8
273 |LEE - =0 2F|DU3E (k) |BRLUSEVERT R | 26H(N) 20.8 7.5
274 m%-§a>iﬁvit(xﬁﬁ)EMMEw%WEE 18H(A) A& 13.3
275 I - =275 E (KtHk) [BRILTHFaHET 4R 8H (&) L 7.9
276 m%-%w:ﬁvit(wﬂm LU =MEHETN\E| 1H(E) A& 10.7
277 | - TOCFE|DSE (k) |HWER/NEFHT 148 (K) A& 1.7
2718 [l - EDCFE[DUSE (KR [FieE 18H(8) IS 10.5
ERNERED M A PEIEEE A =S 22H (&) 33.8 9.6
280 (IR - =0 ([USE (Ktk) [ILEER 18H (B) IS 12.2
281 LR - = cFE|U3E (KtHk) |BRMEREEACHT 18H(A) A& 9.7
282 |LEE - = CF|USE (KtHk) |BRmERFES ERT 26H (X) 21.4 7.9
283 m%-%w d(USE (@) BE™ 12H (N) 10.0 6.0
284 BNk 177 EBLLI AR AT 7H(K) 27.2 18.2
285 }IxE ES X BEEH 155 (£) AR 8.1
286 |BN3E X/\N) =i E ST 18H(B) T 8.3
287 %% DX (F/4vE) BB AHRE] 28H (K) 10.2 7.5
288 [Zofb B 8L &R 7H(K) 36.8 4.7
289 [Zofb RER ELLTEREDTA [ 12HCN) 56.7 4.9
290 [Zofb NFZY BB LTh =FEHETEDE | 26H (V) T 8.3
291 [Zofb IR LF = 22H (&) L 8.1
292 [Zofb IIFE ELLTiAmBTRE | 25H(A) IS 10.5
293 [H26FE K K (ZXK) 8L LT FAEHET A3 | 20H (k) L 8.3
294 [H26FEFEEK X (BX) EBLLI T AHET 21H (K) T 8.0
295 [H26FE K X (B8X) 8L PR BT AR | 208 (9k) L 8.3
296 [H26FE K X (B8X) 3 L =#EHA])I1H | 27H (k) IS 8.1
297 [H26FE K X (B8X) A Ch 22H (£) IS 8.0
298 [H26FE K HBEX (BX) [HN™ 29H (2) T 8.2
299 [H25EEIEXR [K (3K) EBLLI T AHET 21H (K) T 8.1
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